
�� ������	�
 �����






��������������������� ����
	���

������ � ���� 
�� ����� ������
��������� ���������� �  �	!� "






� ���#��

��������
�$�$����
!���� �	��������	� � 	����
�������� �� ���� ��
%&'(�



� )*�*�+,-. ,+/0123� 4,-5� 6789:� *709,679;3< � �76=+ 6 ,+/0123� :924�
*709,679;3< �  7,>�



#.?@7AB'.7AC.=.?@?�

%D�2= E(&FG
E�'D'H I��
.�J�

=A IIJK8 .687.6.=*6,9=� @*"'.7*C.*K."*
JJJ C 6?5.

C2=. C.C6 �+IHL.

.E.�CA�.�



�M�

�����

�+I4+7; 0*4*,6�*23 ,6I+ =;�+5- � ,;2�+0*�;,- �79236� �;.
�7923<2 �;, )76�9�" N�O-4�60 06� /2+. �;.� 6:P23+� /64*5 /;

Q9,9�� 364 9 �P Q9,9�9�C ��6, %F� %D�� �7*3* 14*�+. 46=63+�+ /+23�
2+=,6.*�639 4O+2R6,24S �90 2 )*2�;3,*< *2*:*< �;,6 �+5-I+ 6
)*<Q*�639 /+/ * 3*.� /64 �=+ /+/ ,+/2,;=+ ,;2�+0*�639�

�7*3* 8-74+�� 6:P �>O-8-. <2,60,9�6 0*265+,- 3*T*3* 8-�+�
=6�+0�6 2�6�+,- 8-74+�,-T* 7*4<� � 8-74+�,-. 7*8+ 3*395 )O+0H
4�;0; ,;. 8-74+� ,+/0U�+593>/I- <0;�*239 =+ 59�*36 �)6293+�*�6�
6:P8T*. 29 /+ )O9)*.-,6�9� * ,98T 7*=/-.6�9� 0* /+/98T 0<8T6
�,94�9� 6 59�*3 2�U/ 0�+ ,98T =6O-09�9 364� 6:P8T*. 59�*3+. 2�S.
�7923< 2+ )O9)*0*:,9�9 H N65 :P �7923<2 <3�*O+, :P� � ,;2C�
��6�� V� %&��

�:P8T*. )64 .>�9 ,;�*0� 43+764 .;.+ �79236 ,;2�+0*�639�
=6�+0�6 8-74+� 3W5 2�;34P 2�63S8T� 43+O- ,;2 )O-4�60+. 2�S. <Q-
�79236 ,;2�+0*�639�


;��9 �I64 8-74+�,- 7*4 �=0>�;�68-T* 2�WT* 14*�< 0*2;TX
,*<39� .<2- .< �>O-8- 7*=<.>39�

#6T6,:</-8-. =6/923W /+23� 0�+ 2�� �6,6 #�63�� )7* 4O+2R6,6
=,;39 2�;34P /+, 0�+ /.W,6� 6�+ �S=,6.< /98T ,+=,639�� ��+
:*T<5+�� .;�* /+23 .+=9 �>O-8-.9 3>8T� 40*5 =,6/9 �S=,6. 8-7X
4+�,-T* 7*4<� 40*5 8-74+�,- 7*4 0�+ 1.P2�< 8-74�+ 2�63W 24<X
3+Q,> )7*59/-� #6 3*< )O-Q9,*< 3O+:6 <29�*�,WT*$ )*<Q*�;,- *�SX
=,6.< 8-74+�,-T* 7*4< /+0,64 2 46=63+�,P� /+0,64 0*:7S.9
2)92P� �*.U84*< � 3W3* )O-Q9,> 46=63+�U. 6 �=0>�6,S. �694U.
.; :S39 )O-3*.,S 2)92� /+/5 �+O+/,*239 *0+�=0;�;.�

YQ+�+. 3*T*3* 2)92< /+23� )*<Q939 * 0>/9,;8T 6 �S=,6.<
8-74+�,-T* 7*4< �U:+8 6 /+0,*3�9�S8T Q;23- =��;IR � *T�+0< *:X
/+439�,-. 9 2<:/+439�,-.� �S=,6. 2�6�,*23- 8-74+�,-T* 7*4< �PX

%� �, D� :6:392.6 �6��63*792 	� �� �T79239�



Z �O+0.�<�6�

2�-3; = �93<7[984S8T \*7.<�;OU 8-74+�,-8T T*09,+4 6 .I+ 2�63W�
�7*3* 2,659� /2+. 2+ � 0-�+ N� 8-74+�,-. 7*8+" �P�*5939 3P3*
\*7.<�;O+� � ,98T5 <47P3 /+23 �=;8,S )*4�60 �=,+I+,S8T 6 T�<X
:*4S8T .PI�+,+4� = ,98T5 �6,+ 3S5 0<8T /64* = �-2.6 2�63WT*G
� �93<7[984S8T \*7.<�;O-8T <�*5+,* /+23 3*�94 �7*<8,*239� ,>TP�
<I�+8T39�*239 6 �=�+3<� 5+ 0<8T� <,6�+,S )7;=0,*3*< 2�>3*�W�93+X
763<7P� /9.9 � )76�0> )**4O+9+�

	+/0U�+593>/I- )64 Q;23- �93<7[984S8T \*7.<�;OU /2*< +)9X
I3*�,- 6 +�6,[+�9/,- )+794*)P 6 )7*3* ��>,*�6� /2+. /+/98T �S4�60<
=��;I3,- )-�9� � �S4�60< )*<59� /2+. 7U=,S8T +K+[+3UG 6�+ )O+0X
,*23 /2+. 0;�6� �50P� )*4<0 .*5,* :P�*� ,6I+.< �<I9�*�9�
/+/5 /2+. 2T�+06� 4 1Q+�U. T*.9�+3984S. ,+/�+)I-.� 
-�* �<I9X
�*�* /+23 )7* 46=63+�+ ,+�PQ+7)63+�,*< 23<0,98- .PI�+,+4 ,+/X
�=;8,>/I-8T�

�*4<0 2+ 3S4; 8-74+�,-8T T*09,+4� ,+.*T� /2+. )7* ,+0*X
2363+4� .-236 )*0639 �-8+ ,+5�9 237<Q,S /+/98T *:26TG 6�+ )O+8+
)O906� /2+. 1)�,S )O+4�60 ,>43+7S8T �+48- 6 ,>43+7S8T TP.,U�
43+7W53* *8T*3,> 4 3*.<3* 1Q+�< )O+�*59� �76,39I+4 �6�+�46�
\67;O � �<0-4*�> ,6 
*76�>� H #+ 2�;34U )*/+0,;�; 2+ )*<=+
* 2�;38-8T =62�>8+,S8T�

�+ 4*,89 )*0*3S4;.� 5+ /2+. �50P 0:6� ,+/,*�>/I-8T �SX
=4<.U � *:*7< �93<7[9+ �U:+8 6 T+*73*�*[9+ =��;IRG 6�+ �67*�6�
/2+. 2+ �I+�94W TP)+7479394P �+ �>8+8T *0 8-74�+ )*2<0 �I+*:+8,>
<=,;�6,S8T�

�2+. 29 �>0*.� 5+ )7;8+ .; 0*239 ,+0*23634U� 6�+ 3O+:6
<�;5939� 5+ /+23 3* )7;8+ 3*T* 07<T< )7�,- � Q+24W �93+763<O+� 6
5+ :P�* ,>40P ,+2,60,* 2)*/*�639 �>0+84W 3T+*7+3984W *3;=4P
D ,6�WT6�S.9 )7643984S.9 )*3O+:6.9 T*.9�+3984S.9� �O+/9 29 /+,�
6:P8T 0-�+. 3-.3* 24<3+Q,> )O92)>� 4< =�+�+:+,- 1O60< 46=63+�X
24WT* � ,6I98T ��623+8T Q+24S8T� )*24P3� )*.U84< <Q93+�U.
�93<7[94P 6 06� �=0>�6,S. 463*�-4U. 0* 7<4*< �T*0,*< 4,9T<�

�  �	!� ,6 0+, ,+/2�>3� /.W,6 �+5-I �� �� %&'(�

�)92*�63+��



%� 
���

�� ' 8-74+�,-. 7*8+ �U:+8�
J %� �*2�;3,- 0,*�W �U:+8�

�;0,;� 2)*�+Q,;� �+O+/,; :*T*2�<5:6 )O+0)*4�;0; ,<3,>
<7Q93W 0,9� � ,98T5 :P �90W� =6,+8T6/-8+ 0+,,-8T )768-� �>,*�6�9
2+ )*<=+ 2�<5:>  *5-� %� �7*3*  UT /95 �+ �3� #;4*,> �S2�*�,>
,6O-09� �90< 9276+�24W.<� 6:P N2�>39� 2*:*3< �*2)*09,*�98 ��+��
ED� E��� 3� /� 6:P /9 �>,*�6� /+09,W]2�<5:> �*2)*09,*�>� �7*3*
:P�6 2*:*36 0,+. 2�63S.� 3� /� �*2)*09,< �>,*�6,S.� ��K*0�
F%� %DG �269� ?D^� %F�� �*:*36 .>�6 :S39 �276+�93U. ,+/+, 0,+.
*0)*Q9,4< 3>�+2,WT*� ,S:75 9 0<I+�,-T*G /+/98T 2708+ 7*=37593W
2367*23.9 )*=+.24S.9 .>�* 0*/-39 � 2*:*3< 4�90< 6 )*4*/,WT*
2)*Q9,<3- _"  *T<G ,+:*3 N,+)*4*9,* /+23 2708+ �9024W� 0*4<0
,+2)*Q9,+ �  *T<" �2�� �<[��� #6,+8T;�6/+ 2367*23- )*=+.24S8T�
.>� 2+ Q�*�>4 � 0+, 2*:*3,- )*,*O939 8+�S. 2708+. �  *T6� .>�
� ,>. 0<I+�,> )**4O;39 ` 364 Q;23+Q,> ,6)O+0 /95 *4*<I+39 �>QX
,WT* *0)*Q9,4< 6 ,+:+24S8T 760*23-�

�:P  UT �909 4< 2�>8+,- 0,+ 2*:*3,-T* 3-. �-8+ ,64�*,9��
�)*5+T,6� 0,9 2+0.W.< 6 )*2�>39� T'C ��+,� E� F�� 3� /� <Q9,9�
T* =07*/+. )*5+T,;,- 6 .9�*239� �


9.* 2*:*3< ,6O-09�  UT #90U.� 6:P 9,>43+7W /9,W �SX
7*Q,- 2�;34P 2�>39�9� /+5 �+2.>2 .>�P 3+, 1Q+�� 6:P a90W � 3>8T3*
0,+8T T�6�,- <0;�*239 = 0>/9, =/+�+,-  *5-T* 29 )O9)*.-,6�9
6  *T< )7*3* 0-4P 6 8T�;�< �=0;�6/-8+� )*83< .< )7*46=*�6�9�

� )*T6,U� ,+2T�+0;�;.+ 298+ 364 )76�90+�,S8T 6 Q623S8T
2�;34U /64* < #90U� 6�+ )O+8+ 9 *,9 .>�9 /923W 0,9� .,*T0P 9 �-8+
0,- )* 2*:>� � ,98T5 *0 0+,,-8T )768- *0)*Q-�6�9 6 :*TU.
=��;I3,- )*83P )7*46=*�6�9� 3O+:62 2+ 3* 0>�* =)U2*:+. .,*T0P
�+�.9 ,63<76�923984S.�

�O+2R6,W .6/- 8+�S 59�*3 6�+2)*b 1.P2�+. �9,3+,39*,6�93+7�
2�<5:>  *5- =62�>3939 6 364 8+�S 2�U/ 59�*3 � /+09,S ,+)O+37593S
0+, 2�;3+Q,- )7*.>,939\� 8*5 2+ 23;�; 39.� 5+ 24<3+Q,> 0+,,>

$� �T6�T*\+7� �93<7[94 %�� %ZZ� &� H c� �;�@ %Dd %D('d I*+$,-� D(Ze�H
*<�+K8b[ 3Q� FE�'%%� -*� 6W +@ =6�� =.; =9,f U+g�� ���+.� 237*.� �9:�
���� (�� �79[� 8� �+�2� �� ^� 8� E%�



^ �*2�;3,- 0,*�W �U:+8�

6�+2)*b 47;34S Q62 �.*0�93:6 76,,-� �+Q+7,- 6 3� 0�� 6 � 7*8+ 6�+X
2)*b /923W 0,9 2�<5:>  *5- �ST760,> �>,</- 6 )7* *2363,- 0*:<
6�+2)*b 0*:7S 1.P2� �=:<=</-�

�923W 0*:P 2�<5:>  *5- �ST760,> �>,*�639 ,6O-09�6 8-74+�
�=T�+0+. 4< )O+�7;8+,W 2.P2�,*239 �9024W� 43+7; Q�*�>46 364
)*<3; 4+ 3�*7U.� 5+ :+=+ =��;I3,-T* )O-.WT* 7*=46=<  *5-T*
.,*T0P :P 2+ 2;. *0+ 3�*7U 4 ,+:+2U. ,+)*�=,+2�� � #6 3*<
)O-Q9,*< )7�*3,- 8-74+� <236,*�9�6 2)*�+Q,W /93O,- 6 �+Q+7,- T*X
09,4P �N*\\989<. .63<39,<. �+� �6<0+2" 6 N*\\989<. �+2)+7X
39,<.C�E� 6 )64 ,+0>�9� 6:P :P�6 0,+. *0)*Q9,4< *0 2�>3X
24S8T )768- 6 )O+0+�I-. 0,+. =��;I3,-T* <83-�;,-  *T6 �+ 2)*X
�+Q,S8T 2T7*.;50>,-8T�F� 
9.* 3* =6�+0�6 8-74+� 9/9,W 0,9
2�;3+Q,- =6 3-. =��;I3,-. 1Q+�+.� 6:P �>O-8-� )O9)*.-,6/-8+ 29
,+/T�6�,>/I9 <0;�*239 = �P4<)-3+�24WT* 0-�6 �7923*�6�  *T6 =6 3*
*2�6�*�6�9 6 2+ �P,62,65*�6�9� )*<5939 0,+ 2�;3+Q,-T* 4 3*.<�
6:P 2+ )O9)*0*:b*�6�9 59�*3+. 2�S. �7923<� � 43+7W53* )*0*:X
,*239 =;�+5- �I+8T,6 0*4*,6�*23 4O+2R6,24;�

�*2�;3,W 0,- 6 0*:P 4O+2R6,24WT* ,;:*5+,23�- ,6=S�;.+
8-74+�,-. 7*4+.�

h E� �* /+23 8-74+�,- 7*4d

�*4 *:Q6,24S O-0- 2+ 0�+ *:>T< =+.> 4*�+. 2�<,8+� *0
,>T*5 ,6:S�; )*3O+:,WT* 2�>3�6- 3+)�6� �*TP:+. =+?.>4*�+. *2P
6 )*23<),S. )*TP:+. =+.> 4*�+. 2�<,8+� )64 �>3I- ,+: .+,I-
�=0;�+,*23- =+.> *0 2�<,8+ )*�23;�; ,6 =+.9 0+, 6 ,*8 6 Q3�+7*
7*Q,-8T )*Q62-�

� /64* 7*4 *:Q6,24S 2+ .>O- 0�+ 0*:P� � ,-5 2+ =+.>
*3*Q- *4*�* 2�<,8+� 364 O-0- 2+ 7*4 8-74+�,- 0<8T*�,-. 2�<,8+.�
�7923+.�V� i-. /+23 2�<,8+ ,6I- =+.9� 3-. /+23 �7923<2� �P4<)93+�
8-74�9� # �79236 �P=6O</+ 2-�6� 43+7; *2�>8</+� =6TO-�; 6 *:59�</+
8-74+�� 2-�6� 43+7; �P�<=</+ � 0<I98T �>O-8-8T ,60)O97*=+,S 59�*3�
43+7S 2+ )7*.>b</+ )* 2.739 � 59�*3 �>Q,S�

� )*,>�605 �7923<2 Q9,,*23 2�*< � 8-74�9 �P4*,;�; T�6�,>
247=+ *:>3 +<8T67923984*<� 43+7; /+23 *T,924+. 59�*36 ,60)O97*X
=+,WT* `)*4�60+. �+I4+7S8T .9�*23-� �=+$ 7989� 5+ 2�<,8+. � 8-74�9
/+23 �7923<2 � +<8T67923984W *:>39� �+23 3+0P �7923<2��P4<)93+�

%f ��� �+7*,P. ��, �6�� �� E� 8� V��V�%'� )76�-� 5+ :P *:8T*0,-89 6,9 *:>39
2+ ,+21Q623b*�6�9� 40P:P ,+:P�* 0,U  *T< =62�>8+,S8T� �S=,6. 2)*�+Q,S8T
2�<5+:  *5-8T )*)92</+ 2�� �+� �� ��+7.� ^Z� 9, /+/<,� ���� .+,292 ��� ,� 6�� H
c� �*,2393� 6)*23� ��� D&� ����� FV�� �-74+�,- 7*4 590*�24S :P� /64* �3� #;X
4*, �U:+8 *:76=+. 8-74+�,-T* 7*4< 4O+2R6,24WT* �6K-6 $-@� P+��g�<<��
` 8-74+� 3+0P� 2�6�-8 8-74+�,- 7*4� ,943+764 ,+<)60; 0* /<0692.<� /64 ,>43+O- )7*X
3+236,3W 3�70-� *0�*�;�6/-8+ 2+ )O9 3*. 4 M-. %V� DG �6�� V� %'G �*�� E� %Z� H
"� �<239,� j� 096�*[� 86)� Z(G �*,2393� 6)*23� ���� F'� H �7*�, �<�06� 8-7X
4+�,- 7*4� k� &�G e+3=+7 <� e+�3+� �978T+,�+K94*,� 062 �978T+,/6T7G 
9))+��
062 463T*� �978T+,/6T7� �+[+,2:<7[ %^^&� k�� %H^�G �.:+7[+7� �623*76�3T� ���



�* /+23 8-74+�,- 7*4d &

2�<,8+.� 4*�+. ,>T*5 8-74+� 2+ )*TP:</+� )O+0236�</-8 �>O-8-.
� 0*:> /+0,*T* 7*4< 2�<,+Q,-T* ,+/T�6�,Q/I- <0;�*239 = 0-�6 �PX
4<)93+�24WT* � 8T7*,*�*[984W. )*O;04<� 364 5+ 4650WT* 7*4<
�P4*,;.+ 8+23< 4*�+. �79236 6 /+T* �P4<)93+�24WT* 0-�6� H
�<3* 0*:< 0>�- 8-74+� 7*�,>5 ,6 0,P� ,+0>�+ 6 �S7*Q,- 2�;34P�
�*=0>�+,- 8-74+�,-T* 7*4< =;�92- ,6 �S=,6.< 6 0U�+593*239 *,*T*
36/+.23�- 0-�6 �P4<)93+�24WT*� /+5 2+ )7;�> 2�6�-� �:P8T*. �I64
/62,WT* 6 <7Q93WT* )*/.< * 8-74+�,-. 7*8+ ,6:P�9� 3O+:6 )O9T�-H
5+39 � 8-74+�,-. 7*8+"

�� 4+ 237;,8+ �,>/I- 6
 � 4+ 237;,8+ �,93O,- Q9�9 ��623,- /+T* )*02363>� � 43+7W53*

)O-Q9,> 3O+:6 *)>3 )O9T�-5+39"
6� 4+ 237;,8+ 0*[.63984W Q9�9?)O+0.>3,W �*:/+439�,-� 6
:� 4+ 237;,8+ .76�,- Q9�9 )*0.>3,W �2<:/+439�,-� 8-74+�,-T*

7*4<�
�� 
�+ �,>/I-T* =/+�< 2�WT* /+23 7*4 8-74+�,- 2*<T7, �I+8T

0,-� ,+0>� 6 2�;34U *0 )7�,- ,+0>�+ 60�+,3,- 65 0* )*2�+0,-T*
3S0,+ )* 2�63W. 
<8T<�

 � �+ ��623,- )*02363> /+23 8-74+�,- 7*4"
6� �+ 2.P2�< )O+0.>3,W. �*:/+439�,-.� ,+:* 0*[.63984W.

)*23<),W =*:76=*�;,- 6 )O9)*.-,;,- 59�*36 9 )U2*:+,- �7923*�6�
N�650WT* 7*4<� 0- �<+76,[W7� �90- 8-74+� �)6293+�+ �+5+39 /64*
0-34* � /+2�9Q4;8T� )*23939 2+ ,6 T*O+� *:>3*�639 2+ ,6 4O-59�
�23;�639 = T7*:<� =64�;0639 8-74+�� <236,*�*�639 2�� 2�;3*239�
�23<)*�639 ,6 ,+:+26 ,6 )76�989 �38+� 2+2-�639 
<8T6 2��%�

��+ ,+)*8T*)9�9 :P8T*. �+�94*�+)WT* 0-�6  *T*Q�*�>4*�6�
40P:P8T*. /+ *.+=9�9 )*<=+ ,6 FF �+3 /+T* )*=+.24WT*
)*:P3<�


; =6/923W .,*T+. �>3I- *:/+.� N�+5-I �7923<2 �Q+76
9 0,+2� *,R 9 ,6 �>4PK �a90� %F� `� �P4<)93+�24W )U2*:+,- �79X
23*�* )*Q-,; /95 *46.594+.� 40P  UT )7�,-. 7*09QU. � 7;/9
)O92�-:9� �P4<)93+�+ 6 7*=I9O*�6�* 2+ � ?�3�#;4*,> 9 8* 0* �,>/X
I-T* *:/+.< 9 8* 0* �,93O,- 2-�P �+ 23+8T )O+0*:76=-8T 6 =,6X
.+,-8T� 65 4*,+Q,> � )�,*239 Q62< =6234�>�* 2+ � )�,W =;O9�
,+ 2,60� 6:P 9T,+0 =.9=+�* /64* .+3+*7 6 )* <)�P,<3-/+0,*T*
�9024WT* �>4< *)>3 2+ =63+.,9�*� ,S:75 6:P ,6 �50P 2�-39�* )*
�I+8T,P �>4P 65 ,6 4*,+8 2�>36� 6:P *2�>8*�6�* 4650WT* Q�*X
�>46 )O98T;=+/-8-T* ,6 3+,3* 2�+3 E� �O9)*.-,6/-8+ 29 3+0P 59�*3
�7923U� 6 /+T* )U2*:+,-� )O9)*.-,;.+ 29 ��623,> �+I4+7< 0*:<
*0 �06.6F� 65 0* 2*<0,WT* 0,+� 40P )*=+.24W 0>/9,P �P4<X

$� �<+76,[W7� 062 �978T+,/6T7� �� %E� H E� �<,[.6,,� �T+*79+ 0+7 [+923��
 +7+0326.4+93� f� EVD 6 ,� H $� 	+/2367I- 2�� �38*�W ��<239,� 6)*�� �� %F��
�3T+,6[*762� ��+.� ��+K� 6 /�� <Q- �S2�*�,>� 5+ ��*�* �%%'('& '$(�^6,<Kg[�
:P�* ,+/+, � .*26984W. =/+�+,- 7U=,S. =)U2*:+. Q9,,*� ,S:75 9 ,60)O97*=+,W
*)�*0b</-8-. 2+.+,+. �'$(-^&���1� 9 .+=9 )*T6,P� ��*�* )O+0 �3>�+,-. 9)* �3>X
�+,- <0>�*�6�* 6 <0>�</+ ,60)O97*=+,W .9�*239 �>O-8-. 9 )*T6,U.



%' �* /+23 8-74+�,- 7*4d

)93+�24WT* 0-�6 �7923*�6 1)�,> 2+ <4*,Q-� 
*:6 )O+0 �7923+.
/+23 0*:*< )O-)76�P 6 0*:6 )* �7923< /+23 0*:*< )O9��623b*�;,-
�P4<)93+�24WT* 0-�6� 3+0P 0*:6 0*�7I+,- 6 0*4*,;,-� �7*3* 3O+:6
� 8-74+�,- 7*4 =6T7,*<39 �I+8T,P 36/+.,W <0;�*239 =+ 59�*36
*2*:� 43+7W 2+� :+=)7*23O+0,> �+ �P4<)93+�24W. 0-�+ /64 � 	*�W.
364 9 �+ �3� #;4*,> 1Q623,9�P� .+=9 ,9.95 )7�,- .-23* =6</-.;
�6,,6 
6796� .6346 �P4<)93+�*�6�

N�+23 3+0P 8-74+�,- 7*4 =*:76=+,-.� =)O-3*.+,-.� )O9)*.-X
,;,-. )*=+.24WT* 59�*36 �;,>� /+T* ,+/2�>3>/I- .634P 6 /9X
,S8T 2�63S8T *2*:� /+5 �+ �P4*,;,- 0-�6 �P4<)93+�24WT* 1Q623
.>�PG /+23 )*23<),W =)O-3*.+,-� =*:76=+,- 6)O9)*.+,<3- �+I4+H
7S8T 0>/9, 47;�*�23�-  *5-T* *0 )*Q;34< 0-�6 �P4<)93+�24WT*
0�+ /+0,*3�9�S8T 0*: F 237;,+4 /+T* 65 4< 0*4*,Q+,- /+T* ,6
)*2�+0,-. 2*<0<� ��

�7;2,> * 3*. .�<�- �<+76,[W7� /+T*5 2�*�6 3<3* <�;0-.+"
N�-74+�,- 7*4 /+23 =/+�*�;,- �+5-I+ �79236 6 /+T* 36/+.23�-
� 8-74�9 6 � 0<I-8T �>O-8-8T� �+23 :*524S 47<T� � ,>.5 �I+8T,6
0-�6  *5-� 4650W ,6 2�W. .-23>� =;O-G 2+0. 0,- 23�*O+,-� �+�94*X
,*8+ 6 �+3,98+ �3� #;4*,6� ,67*=+,- �3>�+,WT* ��*�6� /+T* *:>3�
/+T* �-3>=23�-� )O-8T*0 
<8T6 2��� )*2�;3,; +<8T679239+� ,+�P2�*�9X
3+�,; 2�;�6 )6,+,24W  *T*7*09Q4P� 6,0>�U � =;O-8-. 7*<8T<�
=;2�<T6 6 379<.\P 2�63S8T� 364 5+ * 8-74+�,-. 7*8+ �=+ O-89� 5+
)*Q-,; � 0*:> =;4*,6 )6379678TU� �+0+ ,;2 )26,S. =;4*,+.�
0*�7I</+ 2+ � =;4*,< �;24P� 65@4*,+Q,>� 40P5 0*23*<)- �78T*�<�
23*<); 0* �>Q,*239� /64* =;4*, )26,S )60� 2;. 2+:*< *,*T*
0,+� 40P ,+)O+.*593+�,; 29�6 47�+  +7;,4*�P *)*,< � 8T7;.>
7*=)U�9�6� CCE�

�=,6.</+ )64 8-74+� 36/+.23�-� 43+7W 2+ )7;�> 2�6�- T�6�,>
�93<7[984S.9 \*7.<�;O9 .+I,-.9 6 8-74+�,-.9 T*09,46.9� � 076X
.63984*< 59�*23- �P/60O</- �+48+� 6,39\*,P� �+7I-4P 630� :7+�9;O+
6 )*TP:�9�W Q;239 \*7.<�;OU .+I,-8T� /64* 9,37*93� +)9I3*�6� [76H
0<6�+� +�6,[+�9<.� *\\+73*79<.� 8*..<,9* 630� )O-2�<I,W 36/+.X
23�- = 0-�6 �P4<)93+�24WT*� 43+7W 2+ )7;�> 3*T* 0,+ 2�6�-� �,9T6
.+I,- 9 :7+�9;O /2*< /64*:P T�6263+�9� 43+O- *=,6.</- 36/+.23�-
/+5 2+ 3*T* 0,+ 2�6�- 6 )7*3* /2*< )7* 23<09<. 8-74+�,-T* 7*4<
,6 �S2*23 0U�+593P�

� �+�94*,*89 �P:-=+/- 4 760*23,W.< =6)>,- "6��+�</66�
� 0*:> )*23,- )*3�6Q</- N��*7968� * 2�;38-8T 2�63S8T �P)76�</-
* /+/98T 83,*23+8T 6 *=,6.</- /+/98T 379<.\G * 2�;38-8T �;,>
*0T6�</- )O+0 *Q9.6 ,6I9.6 =;�*/ 2 36/+.23�-  *5-8T 6 0;�6/-
,6T�W0,*<39 � T�<:*4*23  *5-8T )76�0� �* )76�- e92+.6,,
* 9,37*93<� )�63- * 3>8T3* .*0�93:;8T �U:+8" N�37)+,- 9 760*239
8-74�+ 2��� *:>3 .<Q+,-46� 0-4<Q9,>,- �P=,6�6Q+� �=0+8T )*<X
23+�,-4U 6 3*<T6 .9�</-8- 2�63W )6,,P� 3* �I+ /+23 � �93<7[984S8T
\*7.<�;O-8T *:265+,*�CC]�

�� �4*Q3�*)*�+�  *T*2�*�- )623� �� E(F 6 ,� H c� �� ���� < 6� ,� H 6� 
7�
�<)46� � .I9 2�� ED(�



�* /+23 8-74+�,- 7*4d %%
l

� )*,>�605 23O+0+. �P4<)93+�24WT* 0-�6 /+23 *:>R ,6
4O-59�%� /+23 8-74+�,- 7*4 )O9)*.-,;,-.� 43+764 *:>3 36 :P�6 )O9X
)76�*�;,6 6 43+764 2+ ,P,- *�*8+ /+/- �90+. 247=+ .I9 2�� )*X
23<),> )O9��623b</+G 6 )*,>�605 *:>3 ,6 4O-59 /+23 3*3*5,;
2 *:>3- .+I,-� �=+ $8974+�,- 7*4 ,6=�639 ��623,> 7*=�9,*�;,-.
.I+ 2��

%(�� )7*Q ,;. 8-74+� 2�� <0;�*239 �P4<)93+�24WT* 0-�6 4650*X
7*Q,> )O+0236�</+d

� *0)*�>09 ,6 3<3* *3;=4< *:265+, /+23 �S=,6. 8-74+�X
,-T* 7*4<� )* 237;,8+ .76�,- Q9�9 )*0.>3,W �2<:/+439�,-�� �*
8-74+�,- 7*4 �+ 2�W. *:/+439�,-. �S=,6.< )O+0236�</+� 3* 3O+:6
4O+2R6,< .P2�- 6 2708+. )*/.*<39 6 0<8T*�,> ,6 2*:> <24<X
3+Q,939� �O+2R6, .; * 369+.23�-8T =+ a9�*36 �;,> <�65*�639 6
0�+ ,98T 59�*3 2�U/ <)76�*�639� 6:P �50P �-8 6 �-8+ �;,< 2+
)O9)*0*:b*�6�� 6:P � 59�*3> 2�W. �50P �-8 6 �-8+ 59�*3 �7923U�
=*:76=*�6�� 65 :P �79236 *:�+4�O� 3�/� 65 :P �7923< �;,< 59�*3+.
2�S. 8* .*5,; ,+/�-8+ 2+ )O9)*0*:,9�O� 65 :P *,*T* 23<),>
�,93O,- 0*4*,6�*239 0*2;T�� /+/5 �+�+:- 2�63S �<[<239, 2�*�P"
N� � � 09�3+ 2+� 760</3+ 2+� �7923+. /2.+ 2+ 236�9�CCV�

�Q- ,;2 3+0P 8-74+�,- 7*4 )* 2�W .76�,- Q9�9 2<:/+439�,-
237;,8+� /64 :P8T*. 2+ )*23<),> .>�9 )*2�>8*�639 0�+ )O-4�60<
�7923*�6O� H � )7;�> 3-.� 5+ 59�*3 �7923U� 2+ ,;. )*23<),>
)O+0236�</+� 6:P8T*. .*T�9 )*23<),> /+0,*3�9�W 83,*239 �7923*�P
29 *2�*/*�639� )O98T;=- 8-74+� ,6 )*.*8 ,6I- 2�6:*239 6 ,+0*4*X
,6�*239� /+�94*5 :P8T*. ,+:P�9 ,943+764 2 3*� 6:P8T*. ,6/+0,*<
59�*3 �7923U� )*=,6�9� 3-. .W,> /+/ ,6)*0*:9�9 ��+� /64* �79H
23<2 N)7*2)-�6� .*<07*23- 6 �>4+. 6 .9�*23- <  *T6 9 < �90-X
��<4� E� DE��� 364 7U239 6 )7*2)-�639 .; �+ 83,*23+8T 4650S 4O+X
2R6, 65 0* )�,*�+323�- �7923*�6�

�O-4�60+. /2*< ,;. � 3W3* )O-Q9,> 2�63-� �+/98T 59�*3 ,;.
/62,> <46=</+� 43+764 2+ )O9Q9b*�6�9 6 8* �I+8T,* Q9,9�9� 6:P
59�*3 2�U/ 59�*3< �7923*�< )O9)*0*:,9�9� 65 :P �7923<2 �P*:76=+,
:P� � ,98T� ]� ��63- .9.* 3* 9 2�*< )O-.�<�*< <  *T6 /2*< ,;.
,;)*.*8,9� 6:P  UT� ,+T�+0> ,6 ,+T*0,*23 ,6I9� ,;. T*/,>
.9�*23- 2�S8T <I3>0O*�6� 6:P8T*. 8* ,+/2)-I+ �79236 *:�W4�9�
H � .U5+��9 :S39 0U23*/,>/I-T*� 2�>3>/I-T* 6 T*0,>/I-T* )O+0X
.>3< 8395;0*239 �9024Wd

a9�*3 2�63S8T /+23 ,;. 8+23*< 4+ �7923< 6 )7*3*� /64W
8T�;�P =62�*<5- 8-74+�� a+ 0* 8-74+�,-T* 7*4< �O6m</+ �50P
2�;34P 2�63S8T� 43+O- ,;. �I98T,9 0*2�>0Q</-� 5+ /+09,; /+23
8+236� 43+7; �+0+ 4  *T<� H �7923<2�
? ��+ 8-74+� 2�63; ,;. � 8-74+�,-. 7*8+ ,+/+, )O+0236�</+
36/+.23�- =+ 59�*36 �7923*�6� 6:P8T*. )*0�+ ,98T .76�P 2�W

k� %� �+37� �� %^� 6� ,� �269� DF"%G j� �9.*3T� E� D� �* �*22� 9� E'�M-.� F� ED�� #/+� D� &� H $� �6��n ?c� ��+.� ��+K�� �6+06[ Z� � ��],[
\. ,;�763 3T6,b ,+*6@=<@P6O6� CCH $� �7683 E% 9, %'T , ^
$��4*Q0*)*�+�� � 8� E(V� H ]��6�� V� %&�



%E �* /+23 8-74+�,- 7*4d

<)76�9�9� ,S:75 0;�; ,;. 9 T*/,> .9�*23-� 6:P8T*. 59�*3 2�U/
0�+ 59�*36 �7923*�6 .*T�9 <)76�939� � =07*/ .9�*23- ,+�PQ+7)6H
3+�,S� = ,>T*5 4650S Q+7)639 .U5+ 0�+ �9:*239� .; 8-74+� �+
.I9 2�� �7*3* .I+ 2�� 0*0;�; ��623,> 8-74+�,-.< 7*4< 24<3+QX
,*239� �O9 4650W .I9 2�� /+23 8+�S 59�*3 �;,> )O+0 ,;.9 6 �+X
I4+7+, )*4�60 .9�*23- ,;. ,6 4O-59 =-246,S8T��

�<3* .PI�+,4< 7*=�;0- 2�*�<3,S �T6�T*\+7 ,;2�+0*�,>"
N�O9 .I9 2�63W �P4*,;�; 2+ 23;�+ 8+�W 0-�* ,6I+T* �P4*<)+,-�
/+T*5 23O+0 2)*Q-�; �+ 2.739 6 �+ =.73�S8T�23;,- �;,> ��+�94*X
,*8+�� /+T*5 *�*8+. /+23 �P�93- 
<8T6 2�� ��+3,98+�� =6 /+T*5
4*O+,P 3O+:6 )*�65*�639 /95 �+ �3� #;4*,> )O+0)*�>0>,W �60X
�+,3� �3>�+,- 6 ,67*=+,- �P,6  *5-T* ��;,*8+�� �:>3- +<8T679X
23984*< .; 2+ )O+0+�I-. <075*�639 � 59�W )6.>39 )6.;346 ,6
�P4<)93+�+ ��<4� EE� %&��� .6/- :S39 �>O-8- *)>3,> 6 *)>3,> )*X
�=:<=*�;,9 :*T*2�<5:*<  *T6 �+�+:939 =6 �P4*<)+,-� /+5 =;�+X
5+�* )*02363,> � *:>39� *�*8+ *:>39� 43+7; � :*T*2�<5:> .+I,-
<236�9Q,> 37�;� 29 *2�*/*�639� � *:>3 6 *:>36�S 59�*3 �7923U� �50P �-8+
6 �-8+ �,94639� � /+T* *:76= 23;�+ �-8 6 �-8+ 2+ )O+3�*O*�639�c�

��+ 6:P 8-74+� 3*T*3* 1Q+�< 2,60,>/9 0*2;T�6� ,+)O+04�;0;
�>O-8-. ,6/+0,*< 8+�S 59�*3 �7923U� 4 1�6=+� ,S:75 �P:-7; =+
59�*36 �;,> )7U:>T+. 8-74+�,-T* 7*4< /+0,*3�9�W 3*�94* <0;�*239
6 <0>�</+ �>O-8-. = )*4�60U .9�*23-  *5-8T )O9 .I9 2�� �50P
,6 *�3;O9 )O-3*.,S8T )7;�> 3*�94 .9�*23-� 4*�94 �>O-8- )*3O+:</9�
6:P 59�*3 2�U/ 0�+ 36/+.23�-� 43+7W 2+ )7;�> 2�6�-� <)76�939
.*T�9�F� �>8T3* .9�*23- 23;�6/- 2+ �>O-8- 3-. �-8+ 1Q623,S.9� Q-.
�-8+ 2+ �59/- 0* 36/+.23�-� 43+7W 2+ )7;�> 2�6�-� Q-. �-8+ �=:<X
=</- �-7<� ,60>/9� �;24< 6 �-3*23 ,60 TO-8TP� Q-. �-8+ 2+ 23;�6/-
.9�*239 )O-23<),S.9 6 �,-.6�S.9� �*<=+ +<8T67923984W *:>39 0-4P
)*�9,*�;,9 /2.+� 5+ 59�*3 �7923U� ,+/+, *:/+439�,> �=)*.-,4*<
4650WT* 7*4< )7*59/+.+� ,S:75 5+ 59�*3 �7923U� 24<3+Q,> )7*X
59/+.+� 5+ �7923<2 �;, 2;. ��623,> � ,;2 59�*3 2�U/ 4650*7*Q,>
/+I3> /+0+,47;3+ )7*59/+� 5+ � 2708-8T ,6I98T * �;,*8-8T 2+ ,6X
7*0-� * �+�94*,*8-8T = .73�S8T )*�236,+� * ,6,+:+�23*<)+,- ,6
,+:+26 �23*<)-f �:>39 +<8T67923984W �0>Q-.+� 5+ �+0+.+ 3S5
59�*3� /64* 40P29 �7923<2� 5+ �7923<2 �;, � ,;2 59/+� 5+ � 465H
0W. = ,;2 =��;IR 59�*3 2�U/ *)64</+G ,+:*R =+ .I+ 2�� Q+7);.+
4 3*.< )*3O+:,S8T .9�*23-�

�7*3* =6�6=</+ 8-74+� �>O-8- )*0 3>54S. TO-8T+.� 6:P
6�+2)*b � ,+0>�9 6 �+ 2�;3+4 .I9 2�63W )O-3*.,9 :P�9�]��

$��7*�� 
7� �� �<)46L ' .I9 2��] DFE� 
I+ 2�� 68974+�,- 7*4� 
>0983�-
2�� �7*4*)6 %^&&� H o<*39+2n T</<2 T*2396+ 8*..+.*3639* 8+�+:763<7� *)<2 7+X
0+.)39*,92 ,*2376+ +K+78+3<7 �
*. �p� )*23 �+,3� �+87�� H E� �T6�T*\+7� j� 8�
D�F( �H F� 	623;�; 3+0P 8-74�9 0�*/- )*TP: *4*�* �79236� )O9 4650+$ *:>39 .I+ 2��
0>/+ 2+ )*TP: *4*�* �79236 6 /+T* 0-�6� 43+7S53* )*TP: 0; 2+ )O97*�,639 4< )*X
TP:< =+.> *4*�* 2�W *2PG )64 �P4*,; 2+ )*TP: *4*�* �79236 =6 7*4 6 3+, 2+
0; )O97*�,639 4< )*TP:< =+.> *4*�* 2�<,8+� H $� �+0�+ *:>39 +<8T67923984W
0*23;�; 2+ ,;. .9�*23- ,6 )O-.�<�< 2�63S8T �)*0.Q3,S �S=,6. 2�;34U 2�6X
3S8T�� $



�-74+�,- 7*4 6 )623SO24S 1O60 8-74�+ 2�� %F

� Q-. �-8+ 2+ /+0,*3�9�89 �7923< )O9)*0*:b</-� Q-.
�-8+ )O9:S�; 8-74�9 2)76�+0�9�S8T ,6 =+.9 6 2�63S8T ,6
,+:9� 3-. �W)+ 06O- 2+ �=7U23< 8-74�+� 3-. .*T<3,>/9 )7*<0-
_f ,- )76.+, .9�*239 6 =;2�<T� 3-. �-8+ :�-5- 2+ *46.594<�
40P 237T,+ )*=+.24W 236,P� 6:P �-3>=*2�6�,> �+I�6 0* 236,<
,+:+24S8T� �+,3* �=7U23 8-74�+ /+�- 2+ 9 �+ �,>/I-. 7*=�*/9
8-74+�,-T* 7*4<� 	*�W 2�;34P �;,>� /+T* :*524W .634P 6 2�6X
3S8T /2*< =,6.+,-. �S�*/+ 6 =0*4*,6�*�;,- 7*4< 8-74+�,-T* 6
0U46=+. �=.;T6/-8- 2+ 59�*3,- 2-�P 8-74�+ 463*�984W� �+, 36.
.U5+ :S39 O+Q * �=7U23<� 40+ /+23 59�*3G 40+ ,+,- 59�*36� ,6
23;�; =37,<�*23�

�7*3* �+I4+7+, �,93O,- 59�*3 8-74�+ O+84W 237,<� � *,>8T
\*7.;8T� /9.95 2+ )7;�> /+�9� � 0*:>� 40P 2+ *0 8-74�+ O-.24W
*037T�6� �0 3W3* 0*:P ,+�90>39 � 8-74�9 O+84W )*47*4< )765;0X
,WT*� �P3W5 2�;34P� 3P3W5 \*7.<�;O+ .+I,-� 3P3W5 �93<7[984W
\*7.P %�

# 3*T*3* ,;=*7< /+09,> �P)�S�; �+�94S 7*=0-� � ,;=*7<
* 8-74+�,-. 7*8+ .+=9 ,;.9 6 S7*3+236,3P� �7*3+236,3W� =6.-3X
,<�I+ *:>3 .I+ 2��� =37639�9 9 2<:/+439�,- Q9�9 .76�,- �S=,6.
8-74+�,-T* 7*4<L /+,5 2+ *0 .I+ 2�� *00>�939 ,+0;G 8-74+�,- 7*4
=:6�+, :P� =6.-3,<3-. *:>39 .+I,- .9�*239)�,WT* *:26T< 6
2,-5+, :P� ,6 )*<T*< T923*7984*< �=)*.-,4<� �<3T+7 )*075+�
298+ 8-74+�,- 7*4� 6�+ 3-.� 5+ =6�7T� *:>3 .I+ 2��� /+23 < )7*3+X
236,3U 8-74+�,- 7*4 )*<T*< 28T7;,4*< H \*7.*<� /+/-5 *:26T
�P.9=+�� � )7*3+236,3U )*=:P� 8-74+�,- 7*4 2�WT* .76�,-T*
�,937,WT* �S=,6.<� � 7+\*7.*�6,- =37639�9 2+ =37;3*< .+I,-
*:>39 8-74+�,- 7*4 1)�,>�

G F� �-74+�,- 7*4 6 )623SO24S 1O60 8-74�+ 2��

��6�+,-. 8-74+�,-T* 7*4< �P4*,;�; ��623,> 8-74+� �+I4+7+,
2�U/ )623SO24S 14*�� 	+:*R 14*�+. )623SO24WT* 1O60< 8-74+�,-T*
/+23 )+Q*�639 * 3*� N6:P ��>O-8-� 59�*3 .>�9 6 T*/,>/9 .>�96 ��6,
%'� %'�� ��+ 59�*3 ,60)O97*=+,S �P8T;=- = �79236 E� 6 /+09,> 40*
2 �7923+. /+23 2)*/+,� .; 59�*3� N�; /2+. �9,,S 4.+,� �P /23+
763*�+239� 40* =U23;�; �+ .,> 6 /; � ,>.� 3+, ,+2+ *�*8+
.,*TW���� /+23�95+ 40* �+ .,> ,+=U236,+��� <28T,+8 ��6, %D�
D 6 ,���

#;�+5- 3+0P 14*� )623SO24W Q9,,*239 8-74�+ 2�� � 3*.� 6:P
�>O-8- :P�9 2)*/+,9 2 �7923+. 8* ,+/15+/9� � )7;�> 8-74+�,- 7*4�
/64 ,6T*O+ :P�* O+Q+,*� .; =6 <Q+�� 6:P �>O-8- �79236 *:�W4�9
��6�� F� E(�� 6:P � ,98T �7923<2 59� :P� ��6�� E� %'�� N6:P � ,98T� �
/64 )76�- 2�� �P)796,� N�7923<2 =U23;�6� 6 :P0�+�=� F� N6:P 2+� C
/64 )76�- ��+. ��+K�� N�7923< )O9)*0*:,9�9�8V� i-. �W)+ 3+0P
4,>5- 9 �>O-8- �90 8-74+�,- 7*4 )7*59/-� 3-. �W)+ 0*2;T,+ 8-74+�

�� �.:+7[+7� k� 8� ZV^� H $� �6, �� H $� �)923� ZE� ,� F� H $� �6+06[� Z�



%V �-74+�,- 7*4 6 )623SO24S 1O60 8974�+ 2��

2�WT* 14*�< )623SO24WT*� H �W5 :P 3+0P 4,>5- 0+,,> )*,*O*X
�6�9 2+ .*0�93:*< 7*=/-.6�*< 0* 36/<)�,S8T T�<:9, 0<8T6 8-7X
4+�,-T* 7*4<� 6:P 3-.3* 0<8T+. *2�-8+,- 6 ,608T,<39 <Q9,9�9
8-74+�,- 7*4 �S8T*09I3>. �I+8T 3O- )623SO24S8T 1O60U <Q93+�X
24WT*� 4,>524WT* 6 )623SO24WT* � <5I-. 2�*�6 2.P2�<� H
� <5934< 23<096 8-74+�,-T* 7*4< )7* 0<8T*�,-T* 2)7;�8+� 6:P
=:*5,> 4*,6� )*�9,,*239 1O60< 4,>524WT*� 47;2,> .�<�- �.X
:+7[+7� %� /+,5 0-" N <095 :+= *:6�< =0+ �P2�*�+,* )O+2�>0Q+,-� 5+
�,94,*<39 0* 0<8T6 8-74+�,-T* 7*4< /+23 ,+/�S:*7,>/I-. )7*23O+0X
4+. )*29�,939 6 =68T*�639 � 4,>=9 )76�WT* 0<8T6 236�< 6 )*X
�*�;,-G �50P3 4650S 0+, )O9,;I- .< ,*�*< 760*23� ,*�W ,60I+,9�
,*�*< �;24<� � 3+,3* )*�=,+I+,S 59�*3 ,+,+8T; T* 4�+2,*<39
� *:PQ+/,S 7<8T 3*T*3* 2�>36� ,+8T; T* =6)*.+,*<39 T7,8U
+[P)324S8T� ,+,+8T6 T* )7*)60,*<39 =;T<:,W *.7=+�*239G 2�<,8+�
43+7W <236�9Q,> *2�>8</+ 6 =6TO-�; 6 �I+ ,+<I�+8T39�W 2376�</+
,940P .< ,+=6)60,+� � 8* 2+ �90< 3S4;� 4 ,+/�P063,>/I-. )7*X
23O+04U. =-24639 8-74�9 2708+ /+I3> ,+*089=+,; )O9,;�+5- 7*=�9,*X
�639 �=,+I+,*23 6 .9�*239 )�,S 59�*3 8-74�+ 6 3-. )O9�;:939 �>O-8-�
:�*<0-8- 9 ,+�>O-8-� 6:P )*T�W0�9 �+ 3�;O .634P� /- 2+ 2 �;24*<
)O9:�-59�9 6 4*,+Q,> /- 0* ,;7<Q- )60�9 6 � �U,> /+/-. 2)*Q9,<�9�
�64 36/<)�,*< .*8 .; :*T*2�<5+:,S 59�*3 9 ,6 3P� 40*5 .<
,+7*=<.>/-� �64 3+)7�� 40P:P .< )*7*=<.>�9f  *T*2�<5:6
)7�,- *:+8 4O+2R6,24*< )*T7*.60> <075*�6�6� 5+ :P�9 /+0,*
2708+ 6 /+0,6 .P2�� 5+ N:P�9 /+0,* 2 �+5-I+. �7923+.� /64*
�+,3* 2 �38+.. H � 2�6�,S �<+76,[W7 0-" N��639 <Q-3+�*�W
)7�,98T 23*�+39� �=,+I+,- )6379678T*�W )*<I3> H *04<0 Q+7)6�9
2�>3�* 6 =6,-8+,*23� 43+7; � ,98T )�;�6� /+/-5 59�W 23*)P �+ 2�S8T
2)92+8T 6 0-�+8T =U236�9�9d �04<0 /9,<0� ,+5 = 0�*<TS8T T*09,+4
=)>�U 56�.*�S8T� )O9 ,98T5 *,6 /+0,*0<8T;� 6�+ )O+8+364 .,*T*X
3�;7,; )76�06 :+= <23;,- )O+0 /+/98T *Q9.6 )O+8T;=+�6 6/+ 2�>3�+.
6 �;24*< ,6)�b*�6�6d �0* 06� 2+76b,24W.<  +7,670*�9 *,< )*X
09�<T*0,*< �7*<8,*23� 43+7; /64* .*T<3,S .+0*�S 3*4 �I+.9
/+T* 2)92P )7*3W4;d 2)92*�63+�9 N	;2�+0*�;,- �79236" *,< .-7X
,*23� *,< 247P3*< .6,,<� 43+7; )* 3*�946 23*�+3-8T 8+�*< 29�<
29 <8T*�6�6d �0* �<0�-4*�9 =  �*92 *,< /+.,*23� *,< 13�*893X
,*23� /-5 ,+�=+ ,6)*0*:939� 43+7;$4650S. T�<:*8+ )*T,+� 40* .<
)*07*:- 270�+d �0* /9. 3* 06�� ,+H�9<236�9Q,S 23P4 2 �93<7[99�
43+7; /+ *:4�*)*�6�6 2�S.9 =)>�P 6 .*0�93:6.9� /64* �=0<8T�
43+7S 0S8T6/-d H �R2+ 3+0P /+, 0<I+� =6,-8+,6 3*<T*< )* .*X
0�93:> /64* ,+�>236 �7923*�6� ,+:*/-� 5+ ,6 :O+T< )*09�<T*0,S8T
�*0 �93<7[9+ :<0+ 5-=,- )76T,*<39�  7=P )�P,*< 3P3* �*0P .-7,>
/64* )*3UQ+4 �<Q9,6.9� :7=P �6�9 2+ /64* )>,98- 2+ ��,P T*7X
24WT* )7*<0<� :7=P =6)�6�</- �I+ 0* ,+4*,+Q,6 /64* .*O+� �R
2+ /+, 2.>�+ :�-5- 6 ,6);/- 2+ = Q923S8T 6 /62,S8T �*0� 43+7W5
3+4*< 0* 59�*36 �>Q,WT*G&� ,+:*R 3P3* �*0P �P3W46/- =+ 23<0X
,98+ �)6293+�*�P�F� 6 0<8T  *5- *)�*0b</+ /+ 2�*< 29�*<� 6:P

$� �� 8� ZDD� H 6� �6, V� %V�� H "� �269� %E� F�



�S�*/ 8-74+�,-T* 7*4<� %D

8T<3,6�P 6 59�9�P 5-=,-8-T* /+�+,6� %� � � � 
<I+ ,+.; 2  *T+.
/9,64 .�<�939� ,+5�9 /64* 2;. 56�.9236 �;,>� /+T*5 .*0�93:P )O9/6�
 UT 9 8-74+� /64*53* ,+/,60I+,>/I-��� �-. 2+?/+�- :*524; )*X
�6T6 .*0�93:P �93<7[984W� 5+ /+23 =;7*�+b .�W4+. 4*/+,8U 6 8T�+X
:+. 29�,S8T� /64*5 9 3-.� 5+ 8T<3,;� /64* *,+, 8T�W: ,6 )*<I39�
�I+.� 40*5 2+ /-. 59�-��� � 39� 40*5 4 8-74�9 ,+)63O-� )O9=,;�6/-�
5+ /+09,; 463*�984; 8-74+� =,; 36/+.23�- .*0�93:P� 6 )7*3* ,+�=+
.�<�939 * .*0�93:>l�93<7[984W < )7*3+236,3U� 43+O- 364W ,+.6/-
628+3984S8T 2)92*�63+�U. H �,9 =6�7T�- +<8T6792399 6 )7*3* *0X
)60�P /9. 9�8-74+�,- T*09,4P� 43+7W 2*<�92+/- ,+/15+/9 2 *:>3-
.+I,-� E�

�W5:P 3+0P 4,>5-� 4*,6/-8+ 1O60 <Q93+�24S� � 4;=;,-8T� )O9
,6)*.-,;,-8T �+ =)*�>0,989� )O9 )*�=:<=*�;,- 4< )O9/-.;,- 2��
2�;3*23-� =47;346 �+ �+I4+7W 2�W Q9,,*239 )623SO24W =O+3+� *:76X
8+�9 4 8-74+�,-.< 7*4<� #9/+��9 40* 2 8-74�-� 23;�; 2+ � )76�0>
4O+2R6,+.� 8*5 )�63- /64 * /+0,*3�9�8-8T 364 9 * 8+�S8T *260;8T
6 ,;7*0+8T� �0+ 2+ 59/+ 0�+ 8-74+�,-T* 7*4<� 36. /2*< 4O+2R6,X
24S.9 �>06 9 <.>,- �+ �I+8T *:*7+8TG 36. /+ 4O+2R6,24S. <.>,-
236�93+�24W� 2*8T6O23�-� .6�-O23�-� )*+29+ 6 T<0:6� 	+:*R *,P
�=,+I+,W .PI�+,4P 6 893P� 43+7W 8-74+� � 0<I9 Q�*�>46 :<0-�
=3>�+2b</- 2+ � 0-�+8T 7<4*< 6 0*8T;=+/- �S76=< � 3�*7:> 0<8T6� F�
�-74+�,- 7*4 2;. =62�>8</+ �I+8T,P� 40*5 T* ,;�+593> 2�6�-� 0*
36/+.23�- ,+/�=,+I+,>/I- )*+29+� 4 ,-5 0<8T �9024S �U:+8 0*2)>��
��6�98+ 8-74+�,- 7*4� ,+/+, ,6:S�;.+ )*7*=<.>,- =)>�U 
6�9X
0*�S8T 6 )7*7*84S8T� ,S:75 �,94;.+ 9 0* ,+/47;2,>/I-8T 0<8T6H
)�,S8T =)>�U� /+5 8-74+� 26.6 ,6 *2�6�< 36/+.23�- 8-74+�,-T*
7*4< �P3�*O9�6G 2�6�-8+ 8-74+�,- 7*4� 2+=,6.</+.+ 2+ 2 .9237*�X
24S.9 0-�P T<0+:,-.9 �I+8T ,;7*0U� /+5 0*8+�6 0*:O+ 2+ 27*�,;X
�6/- 2 )*�6T*< �93<7[9+ 6 )O+8+ 2�*< 7;=*�93*23- )*<46=</- ,6
7<=,S ,;7*0,- )<�*0� �*+29+ ,+28T;=- 6,9 � .*0�93:;8T� 6R /95
/2*< 2�*5+,P � )7*2+ ,+:* �+ �+7I9�

�-74+�,- 7*4 )*2�>8</+ �I+8T,P )*.>7P 2)*�+Q,*239 �9024W�
�6,*�,-4 9)*006,-� 7*09Q+ 90-34P� );,9 92�<5+:,- )O923<)</-
� /923W 0,P 2)*�+Q,> 4+ 23*�< �;,>� � ,+0>�9 6 �+ 2�;3+4 1Q623,-
2+ 2)*�+Q,> 2�<5+:  *5-8T 6 �*�6/- �I98T,9 2)*�+Q,> /64* 0-34P
/+0,*T�*@*38+" N�3Q+ ,;I� /+,5 /29 ,6 ,+:+2-8T� � �� 	+236�* 2+
:+= )7989,P�� =+ )6,*�,-89 ' �+�4S8T 2�;38-8T �;,> <0>�*�6�9
6.,+2399 6/9,6 0*:7*09,-� H � 4W5 :P *)>3 �9023�* 59�* D 8-7X
4+�,-. 7*4+.f

q V� �S�*/ 8-74+�,-T* 7*4<�

L �-74+�,- 7*4 4O+2R6,24S 2;T; )U�*0+. 2�S. 65 0* 0*:
6)*23*�24S8T 6 )*0*:6� 2+ = )*Q;34< 2+.W,4< T*OQ9Q,W.<� /+5
�264 )+8, �-74�+ 2�� 6 ��9�+. 
<8T6 2�� �=7*23�* � .*T<3,S

$� a6�. V�%� E� H %� �<+76,[W7� NH F� �.:+7[+7� �� 8� ZD^�



%Z �S�*/ 8-74+�,-T* 7*4<�

237*.� 43+7S � )O+4P)</-8- 59�*3,- 2-�+ ,*�W$763*�+239 )*2<0 =+
2+:+ �P0;�;�

�U�*0,> 2�6�9� 2+ � 8-74�9 )*<=+ 3S0+, 3� 9� ,+0>�+ 2+ 23O+0*<
6 );34+.�%� � ,+0>�9 2�6�9�* 2+ �=4O-I+,- �;,> �)628T6 6,6236X
29.*,�� 4 ,>.<5 2+ )*=0>/9 )O9)*/*�6�6 9 �=)*.-,46 2+2�;,-

<8T6 2��� �+ 23O+0< 6 � );3+4 E� �=)*.-,6�* 2+ <37)+,- �;,>
�)628T6 236<7*29.*,�� 364 5+ 2�>8+,- 4O+2R6,24WT* 3WT*0,+ :P�*
2�6�+,- �+�94*,*8 6 2+2�;,- 
<8T6 2��� /+5 2+ 0�66)60+2;347;3+
0* 7*46 *)64*�6�*� �*Q-,6� )64 ,+/2367I- 8-74+�,- 7*4 �+�94*<
,*8-� 43+7S53* *:PQ+/ 2+ <075+� 65 0* )*Q;34< 23O+0*�>4<� � T*X
09,4;8T 8-74+�,-8T )*2<0 364 =�� �879)3<76 *88<77+,2�� )*Q-,;
� )O-)76�,W 0*:> 4 �+�94W ,*89 �,6 ,+0>�9 0+�-3,-4� �� 4,9T*<

*/5-I*�*<� H ��6�9�9H�94O+2R6,W 4650WT* 3WT*0,+ =.73�S8T�23;,-
�;,>� 0>�* 2+ 364 /+I3> =��;I3,- 2�6�,*239 * �+�94W ,*89� �+�94*X
,*8+ :P�P ,+/2367I- 2�6�,*239 6 236�P 2+ 47P236�926Q,-. :*0+.
8+�WT* 8-74+�,-T* 7*4<G 0�+ �+�94*,*8 O-09�P 2+ �50P 2�;34P )*X
TP:�9�W� �7Q93> �I64 )O9)*.-,6/- 2+ ,;. �+�94*,*8+ 3+)7� � ��� 23*H$
�+3-� 40P5 3*395 �+0+, :P� 2)*7 .+=9 )6)+5+. �,98+3+. 6 :924<X
)+. �*�P467)+. �+ )O-Q9,> 0*:P 2�6�,*239 �+�94*,*Q,-� F�

�W.>O 2*<Q62,> 2 �+�94*,*8+.9 2�6�9�P 2+ �+3,98+� HH�*X
=0>/9 )*Q6�9 4O+2R6,W 9 /9,W 0U�+593W <0;�*239 =+ 59�*36 �;,> *2�6X
�*�639 6 3* )O+0+�I-. ,6,+:+�23*<)+,- �;,>� �0P �I64 3+,3*
2�;3+4 :P� =6�+0+,� ,+0; 2+ 0*8+�6 /923> <7Q939� �923* /+23� 5+ 2+
2�6�,*23 363* 4*,6�6 � 8-74�9 � )7�,- )*�*�989 ��� 23*�+3-� �*X
0*:,> 2)*7,*< /+23 )*2<0 *3;=46 * )U�*0< �;,*8 6 /+/98T )*X
.>7< 4< =/+�+,- �;,>� �76�0> )*0*:,* /+23� 5+ 2�6�,*23 =/+�+,-
�;,> �=,94�6 ,6 �S8T*0> * .;�* )*=0>/9� ,+5�9 �+�94*,*8+ 6 �+3X
,98+� V� ��6�,*23 �;,*Q,- � 07<TW )*�*�989 Q3�73WT* 23*�+3- 2+
0*236�6 = �-.6�D� 40+ 0�+ 2367WT* )*0;,- /95 0;�,* )O+0 3-.
2+ 4*,6�6� 0* �,39*8T9+� ��

��+ 2�6�,*239 3P3* ,+3�*O9�P .+=9 2+:*< *7[6,984WT* 8+�4<�
,+:P�P Q;23.9 3WT*5 8-74+�,-T* 7*4<� ,+0*8T;=+�P =��;I3,-T*
�S76=< � .+I,- �93<7[99� ,S:75 �93<7[9+ 2+ 2�6�9�6 3S.5 =)U2*:+.
/64* 4650*< /9,*< ,+0>�9 ,+:* �I+0,- 0+,� �+)7�+ � )*�*�989
Q3�73WT* 23*�+3- *:/+�</+ 2+ ,6 *:=*7< 8-74+�,-T* 59�*36 8-74+�,-
7*4� �*0,>3 4 =6�+0+,- /+T* =6�06�6 2�6�,*23 ,67*=+,- �;,>-�
�*2<0 3*395 4650WT* 3WT*0,+ *2�6�*�6�* 2+ = .73�S8T �23;,-
�;,> 6 2+2�;,- 
<8T6 2�� �0P5 �I64 9 ,67*=+,- �;,> 2+ )*Q6�*
� 8-74�9 *2�6�*�639� <4;=6�6 2+ )*3O+:6 9 *2363,- �S=,6.,W <0;X

$� �7*:23� 
9+ 59�3+23+, 7*.� �6876.+,3679+, <,0 �709,+2� 
U,23+7 %^&E� H
$� �+ 23O+0< �=)*.-,6�6 2+ =760P �90;I*�P� � );3+4 1.73- �;,>� H ]� �<2+:�
�923� 888�� �� 8� EFHEDV �T9�*2*)T� ����� 8� %^� �T7*,� )628T� +0� 
9,0*7\ ��
%E� 2rr� H $� �76<2� �+6��8K94*,�� � L��+23+] � ���� 23*�+39 )O9)*.-,; 2+ +)9\6,9+
�4*,[393� 6)*I3� ��� %F�� H D�  629�� 0+ �)9793< 2 8� ( )� &V� 
9[� 
*5,;� 5+
2+ � M-.> 2�6�9�P �;,*8+ /95 ,6 4*,89 ��� 23*�+3- ��7*:23� �6876.+,3679+,� E^��
]� �T7P2*23� 9, 09+. ,636� 
� 	� �� �T� )� FDZ� 3� E� �3W3* T*.9�99� 43+7; 4*,;,6
:P�6 7� F^Z� )76�- 2�� �6,� 5+ � �,39*8T99 )O9I�6 363* 2�6�,*23 3+)7� )O+0 �* 7*4P �+
=,;.*23 6 5+ =6�+0+,6 :P�6 =+ =;)60<� H (� �7*:23� �93<7[9+ 0+2 ��� �6T7T�
FZ( 6 ,�



�S�*/ 8-74+�,-T* 7*4<� %(

�*239 =+ 59�*36 �;,> 2�6�939� ��+ 8+�S 59�*3 �;,> ,+06� 2+$� 1=4W.
7;.89 /+0,*T* 3WT*0,+ �>O-8-. =*:76=939 6 )7*3* )*<59�* 2+
4 3*.< 8-�9 8+�WT* 7*4<�


�+ 3*T* )*Q-,6� 8-74+�,- 7*4 �;,*8+.9� �+�94*,*8+ 3�*X
O9�P 23O+0 /+T* 6 �+3,-8+ /+/ 0*4*,Q*�6�P� H �P3* 123O+0,-
2�6�,*239 .>�P )64 =;7*�+b ��9� 9 ,6 )O+08T;=+/-8- 6 ,;2�+0</-8-
,+0>�+ 6 �I+0,- 0,9� �3924</-8+ /9. �-8+ ,+:* .W,> ��623,- 7;=�
Q-.5 )*�236�6 )O+0T*0- 6 )*T*0- �;,*Q,- �=/+�+,- �;,>�� �+�94*X
,*Q,- 6 2�63*0<I,-�


9.* 2�;34P �;,> 2�6�9�P 2+ 7*=37*<I+,> )* 8-74+�,-.
7*8+ 3W5 2�;34P 2�63S8T� � ,98T5 �I64 *2�6�*�6�6 2+ �50P /+,
=;=76Q,; 2-�6 .9�*239� 43+7*< ,;. �7923<2 2.739 ,6 4O-59 =/+0,6��
 P�P 3* ��623,> 2�;34P ,6 *2�6�< �79236� �7*3* 8-74+� �=0;�6�6
�50P� /64 ,+/2367I- \*7.<�;O+ .+I,- 0*2�>0Q</-� ? *T< 0-4P =6
.9�*239� /98T5 2�63S. =6 59�*36 )*=+.24WT* <0>�9��%��)7*2-8 =;X
7*�+b 2�63W =6 )O-.�<�< <  *T6]� 6 )*�=:<=</-8 �>O-8-4 ,;2�+X
0*�;,- /+/98T 83,*23-�F� �S�*/ 8-74+�,-T* 7*4< <4*,Q9� 2+ �+
23*�+3- �����

# 47;34WT* ,;Q734< �S�*/+ 8-74+�,-T* 7*4< )*=,;�;.+�
5+ 298+ T*OQ9Q,W 2+.W,4* 8-74+�,-T* 7*4<� 3� /� 2�6�+,- ,+0>�+
2+ 23O+0*< 6 );34+. T,+0 ,6 )*Q;34< 8-74�+ 0* =+.> ��*5+,*
:P�*� 6�+ 3+)7�+ �+ ��� 23*�+3- = ,>T* 237*. 8-74+�,-T* 7*4<
�P)<Q+��  +=0>Q,W 3+0P �3-7; 2+ ,;. *3;=46� )7*Q 364 0�*<T*
2+.W,4* 3* ,+�=+I�*� �0)*�>m /+23 ,6 2,60>� �+0*�; 4U76 )?7*X
,;2�+0*�;,- 8-74�+ )*47S�6�6 )U0< 6 )7*3* 3+)7�� 65 =6 8-26O+
�*,236,39,6 �+0P 6 2,>TP ,+)O;3+�23�- 7*=3;�P� 65 4S5+,S )*4*/
=6��;0�� )*Q6� 2+ 59�*3 8-74+�,- �I+2376,,> 7*=�-/+39�


*4<0 37�6�6 )7*,;2�+0*�;,-� N,+8T*09� �+5-I =/+�,> � � � �
6�+ *0+I+� 0* 476/9,P �+0�+ )*<I3>8 ��6, %%� DV� 3� /� 247S�6� 2+
)O9 :*T*2�<5:> � 2*<47*.S8T 0*.+8T 6 )*0=+.,-8T 247SI-8T
6 3+)7�+ 40P5 9 23;3,- .*8 )7*,94,<36 :P�6 0<8T+. 4O+2R6,X
24S.� 40P5 9 =;4*,+. 2�>324S. )*7<Q+,* :P�* 2�>3939 ,+0>�+
6 2�;34P� 40P5 236�>,P :P�P ,;0T+7,W :629�94P� .*T� 2+ 8-7X
4+�,- 7*4 7*=�-,*<39 �+ �I- 7*=.6,93*239 6 �=,+I+,*239�

�-74+�,-7*4 =/+0,6� 29 :7=P )* 2�W. �=,94< )7U8T*0 0* �93<7[9+�
�;,*, =U236� ,+0*34,<3� )*,>�605 2+ � ,>. *)64</+ �50P 3;5
*:>3� 43+7*< �7923<2 ,6 4O-59 )O9,+2�� ��+ =6 3* Q;239 )O+0 4;X
,*,+. 6 )* 4;,*,< ,6:P�P ��9�+. 8-74+�,-T* 7*4< *,W 7*=.6X
,93*239� 43+7; 2+ ,+�P24P3</+ �5;0,W �93<7[99 �S8T*0,-� )*,>�605
3P3* 8-74+�,-.< 7*4< )O-23<)< 0* �93<7[9+ ,+0*�*�9�P�

%� �<62 +,9. 
*.9,+ �-73<3+2 3<62r<+ �983*7962 60.976.<7� r<*39+2 9,
+88�+296 3<6 T*7<. 09+7<. \+236 8+�+:76,3<7� r<*2 9,29[,+2 8*,\+22*7<. 3<*7<.
+3 .673P7<. )6�.6+ 60 )+7+,,+. .+.*796. 2*�+.,+.r<+ �6+39396. \90+�9:<2
)*)<�92 26876�+7<,3� H o<*7<. [�*796. T*09+7,6 \+239�9363+ 7+8*�+,3+2� T*23962
�9:9 �6<0-2 *\\+79.<2 ��6876.� �+*,96,� )� E&F� H ,� %E� )� E&Z� 8\7� ,� F^� )� F%'� H
%� �_� � )+7)+3<6 2+8<79363+ .<,979 83 26�<3679 [6<0+7+ )7*\+83<� %�8� ,� F^� )� [9*� H
B� )7*\9876.<2 )96+ 8*,\+229*,92 +K+.)�-2� �� 8� ,� &� )� E&D�

� 8-74+�,-. 7*8+ E



%^ �S�*/ 8-74+�,-T* 7*4<�

i;239 .I+ 2��� /+5 )*0 ��9�+. 8-74+�,-T* 7*4< ,;. ,6 .P2�
<�;0>/- <0;�*239 =+ 59�*36 �;,>� /64* /+T* ,67*=+,-� <37)+,- 6
)� .6/- 2+ 4+ 4;,*,< /64* 90+;�,- )O-3*.,*23 �79236 �;,6 4<
)O-3*.,*239 24<3+Q,W � ,+/2�>3>/I- *:>39� �-. 2)*/+,P 0�> �=,+
I+,W .PI�+,4P" )76�; )O-3*.,*23 �7923*�6 � ,+/2�� 2�;3*239
*�3;O,- 6 90+;�,- )O-3*.,*23 �;,> � 8-74+�,-. 7*8+� /+,5 �+O+/,>
*2�6�</+ /+T* 59�*3 *0 ,67*=+,- 65 0* �+T* ,6,+:+�23*<)+,-�

��;3*23 0*0;�; 8-74+�,-.< 7*4< 7+;�,*239� /+53* 3+,� /+T*5
,67*=+,- * �;,*8-8T 2�6�-.+� /+ 24<3+Q,> 6 )*02363,> � +<8T6
792399 )O-3*.+,� � ,6*)64 8-74+�,- 7*4 ,;. =62+ )O9)*.-,;� 5+
3+,� /+,5 �+ 2�;3*239 /+23 )O-3*.+,� /+23 *,+,� /+T*5 �6,,6 )*X
7*09�6� /+.<5 2+ 2�63- 3O9 47;�*�W 4�6,>�9 630�$�

	+/2367I- )6.;346� 43+7; ,;. 0*2�>0Q</+ ��9� 8-74+�,-T*
7*4< ,6 �93<7[99� /+23 26876.+,3679<. �+*,96,<.� �*,>�605 �I64
/+T* ,+/2367I- .I+ 2�� )U�*0+. 2�S. 26T; 0* 0*:P )6)+5+

6.626 �FZZ H^V�� .; 2+ �I+*:+8,> =6 3*� 5+ =6 ,>T* 8-74+�,-
7*4 0* �93<7[9+ :P� =6�+0+,� �*.< ,62�>0Q</+ 9 3*� 5+ 2�63S

� �+7*,P. = 7*=46=< )6)+5+ 
6.626 2+236�9� 4 1Q+�U. :*T*2�<X
5+:,S. 2+=,6. )+794*) +)9I3*�,-8T 6 +�6,[+�9/,-8T� =�6,S 8*.+2
Q9�9 �+839*,679<.� 40+53* )O+0 3-. 4*,6�* 2+ Q3+,- �-2+. 2��
,+)O+37593>� 47*.> ,>43+7S8T <23;�+,S8T Q3+,- * ,+/=,6.+,93>/H
I-8T 2�6�,*23+8T� E�

�64.9�+ �I64 <�+0+, :P� 8-74+�,- 7*4 0* �93<7[9+� ,+.*T�*
2+ Q-239 �-2.* 2�� ,+)O+37593>� ,S:75 .<29�P 2+ Q-239 /+, 3P Q;239�
43+7W 2+ 4 *:26T< 2�6�,*239 T*09�P�

�*=<.- 2+ 26.* 2+:*<� 5+ =��;I3,- \*7.<�;O+ .+I,- /+,
=,+,;T�6 0* �93<7[9+ :P�P <�;0>,P� 	+/0O-�+ :P�6 2+236�+,6
*\b896 )7*)796 )7* 2�;34P �;,>� )64 2+ 2+236�*�6�6 *\b896 8*.X
.<,-6 )7* 8+�W 3O-0P 2�63S8T" 6)*I3*�U� .<Q+,-4U� �P=,;�6QU�
)6,+, 6 ,+�)6,+,� �P,946/-8-. 2�63S. 0*236�* 2+ =��;I3,-8T
*\b89-� �7* ,+0>�+ 2+236�+,P :P�P \*7.<�;O+ 2)*�+Q,W �*\b896
8*..<,96�� 43+7W /64*53* 364*�W 2+ 2�;34P ,943+764 ,+2*<�92+�P�
)*,>�605 8-74+�,- 7*4 :P� )*2<0 .;�* 7*=�9,<3� �+)7�+ 40P5
123O+0,- 2�6�,*239 )*Q6�P .-39 ��9� ,6 )O+08T;=+/-8- 6 ,;2�+0</-8-
,+0>�+ 6 3643* 2+ 3�*O9�P *47<TP 2�6�,*23,-� :P�* 3O+:6 +)9I3*�P
6 +�6,[+�96 6 *2363,- Q;239 .+I,-8T \*7.<�;OU <)76�*�639� 6:P
:P�P �T*0,S. �S76=+. 36/+.23�- )O-2�<I,W 0*:P 8-74+�,-T*
7*4<� �64 )*�236�P \*7.<�;O+ .+I,- ,+0>� 60�+,3,-8T� /64*53*
)O-)76�P ,6 �;,*8+ 6 ,+0>� )* �;,*8-8T� /98T5 +�6,[+�96 �PX
)76�</- <0;�*239 = .�;0- �;,>� �\\989- =��;I3,-8T � .+I,- 4,9=+
3-. �-8+ )O9:S�6�*� Q-. �-8+ 2+ �P�9,*�6� 8-74+�,- 7*4� � )*H
,>�605 8-74+�,- 7*4 <236�9Q,WT* �S�*/+ /+23 28T*)+,� 7*=�9,</8

�7,03� �
7� �<)46� * .I9 2�� 237� %(^�� H "� 
+.9,93 �6,839362 �+2376�
+�6,[+�9<. 2+8<,0<. �*6,,+. +K *709,8 �+839*,<. ,*2 2*�+7+ 3768367+� �+0
r<96 ,<,8 9,3+7)*2936 +23 2*�+.,9362 26,83*7<. 09+7<.� r<9:<2 887362 +K +�6,X
[+�9* �+839*,+2 *)*73+3 7+893679� r<6+ 936 2<,3 6,,<6+� <3 6�96+ +22+ ,*, )*229,3"
*70* 9��+� r<8. 2<28+)+76.<2� +K ,+8+229363+ )6<�<�<. 9,3+7.922<2 +23� ,*,
*.922<2� ��K)*2� 9, j� �*6,� 9, )76+\�



�*=0>�+,- 8-74+�,-T* 7*4<� %&

$2+ 23;�+ 9 O-.24S *:O60� /+.<5 <236�9Q,> ,*�S8T \*7+. �93<7[9X
84S8T )O9:S�;� � 463*�984S.9 *:O60P /+ 3* 364� /64* 2 463*�9X
84*< 8-74�- �U:+8� 43+7*< �7923<2 )O97*�,;�; /+0,64 4 )+�,W
:<0*�> �P236�>,W ,6 24;�+� /+0,64 4 =7,< T*OQ9Q,W.<� 43+7W
<236�9Q,> �=7U23; �+ �+�94S 237*.� 
+I,- 4;,*, /+23 ,+)*T,<3S�
�I+. :*<O-. �=0*7</-8- 0U.G � *2363,-8T Q;23+8T )*0*:; 2+
.+I,- �93<7[9+ 237*.< �P7U236/-8-.< =+ =7,6 T*OQ9Q,WT*\�

 �6T*0;7,S ��9� 8-74+�,-T* 7*4< ,6 �93<7[99 .+I,- 7*=I-O9�
2+ 9 ,6 T*09,4P 8-74+�,-� �95 �+ ��� 23*�+3- <5-�6�* 2+ � :7+�9;O9
2+=,6.< )+794*) =�� �+839*,679<. �8*.+2� 2+236�+,WT* 2�� �+X
7*,P.+.G 1)�,> �I64 *��;0� 8-74+�,- 7*4 *:26T :7+�9;O+ ��0*:>
.+=9 ��HH���23*�+3-.\$� �+,,609<2 �P)76�</+� 5+ 
<2;<2� 4,>=
= 
6229�9+ �4*�� 7� VD'�� �P:76� = �-2+. 2�� Q3+,- ,6 8+�S 7*4�
/64 3* :S�6�* ,6 2�;34P� 0;�+� 5+ �P:76� 7+2)*,2*796 6 46)93<�6�
6:P 9+ <�+0� �+ 2T*0< 2 0*:*< 6 Q3+,-.9� Q-.5 0*2)>� 8-74+�,-
7*4 � :7+�9;O9 4 1)�,W.< )6,23�-O�

c D� �*=0>�+,- 8-74+�,-T* 7*4<�

# )*/.< 6 �S�*/+ 8-74+�,-T* 7*4< �=+ )*=,639� 5+ /+23
1Q+�,> 2+O60>,� 3� /� 5+ /+0,*3�9�W 2�6�,*239 /2*< 2+236�+,P 0�+
<7Q93WT* )�;,<� 0�+ /923W �U0Q- 90+P� �-74+�,- 7*4 ,+2+ ,6 2*:>
7;= *7[6,984WT* 8+�4<� �0+*<� 43+7; /+0,*3�9�W Q;239 8-74+�,-T*
7*4< 2)*/</+� 6 43+7; /+0,*3�9�W 2�6�,*239 2+O6m</+� /+23 8T7*,*X
�*[984W =*:76=+,- 6 )O9)*.-,;,- 59�*36 6 )U2*:+,- �+5-I+ �79236�
 >5- �I64 * 3*� 6:P 2+ 236,*�9�*� =06�9 )*0�+ 3*T*3* )�;,< 2+X
O;0>,P /2*< �I+8T,P 2�;34P 6 ,+0>�+� Q9 /+, /923; /+/98T Q;23� 6
=06 *2363+4 )*O;06/-8-. ��9�+. 90++ 8-74+�,-T* 7*4< =U236� ,+X
0*3Q+,� V�

�3;=4< 3<3* ,+�=+ 7*=O+I939 6 )79*79� ,S:75 )*<=+ ,6 =;H
4�60> 0>/9, 8-74+�,-T* 7*4<� T�6�,> �I64 = �93<7[984S8T \*7.<�;OU
*:265+,S8T � .922;�< 6 :7+�9;O9�


>/9,P 8-74+�,-T* 7*4< ,;2 <Q-� 5+ � 8-74�9 *0 ,+/2367I-8T
0*: T�6�,-.9 2�;34P :P�P" �;,*8+ �#/+�+,- �;,>�� �+�94*,*8+ 6
�+3,98+� H �;,*8+ )64 6 �+�94*,*8+ =6</6�P =;TP � �93<7[99 364
�S=,6Q,W .-23*� 5+ �S=,6.+. 2�S. *��;0�P 9 O60< ,+0>� )O+0X
8T;=+/-8-8T 6 ,;2�+0</-8-8T� /9. �3924�P 2�U/ 7;= 6 3* 364�5+
,+0>�+ )O+08T;=+/-8- )O9)76�*�6�P ,6 2�6�,*23� 40+53* ,+0>�+
,;2�+0</-8- �S=,6. 2�6�,*239 0;�+ 7*=�-/+�P� �643* )*�236�P 0�6
*47<TP 2�6�,*23,-" �;,*Q,- 6 �+�94*,*Q,-� �650S = ,98T .;
/+0,< Q+�,*< 2�6�,*23 =6 23O+09I3>� 4*�+. ,>T*5 2+ O60- ,+0>�+
)O+08T;=+/-8-� =�6,W )O+0T*0- ` ,+0>�+ ,;2�+0</-8- =�� )*T*0-�
�O+0T*0- 6 )*T*0- /+23 *)>3 �=0;�+,>/I- 6 :�95I-�

$� �7*:23� �93<7[9+ 0+2 $��� �6T7T� F(V�� H n� �T6�T*\+7� �93� ��� V%F� H
$� e+3=+7 <,0 e+�3+$2 �978T+,�+K94��  7+�9+7� H c� �7*�,� �T+*�� )7643� o<6736�X
28T79\3� %^&V��237� ^EV� Q�;,+4 * 7*=0>�+,- 8-74+�,-T* 7*4< *0 �7� �633�+76� �� ��

Ec



E' �*=0>�+,- 8-74+�,-T* 7*4<�

�=0;�+,>/I-. )O+0T*0-. �;,*8 6 #/+�+,- �;,> /2*< Q3PO9
,+0>�+ 60�+,3,- 6 �=0;�+,>/I-. )*T*0-. 2�6�,*239" �Q9I3*�;,-
�6,,P 
679+ 6 0�> ,+0>�+ )* #/+�+,- �;,> 6 *0 7� %^&F 3W5
2�;3+4 2�� 7*09,P� /+,5 2+ 2�6�- 3O+3- ,+0>�9 )* #/+�+,- �;,>�

 �95I-. )O+0T*0-. �;,*8 /2*< 0,P *0 %(� )7*29,8+ 6
:�95I-. )*T*0-. �;,*8 6 #/+�+,- �;,> /2*< *43;�P )* ,67*=+,-
�;,> 6 )* #/+�+,- �;,>� �*0*:,> 2+ �>8 .; < �+�94*,*8�
�=0;�+,>/I- )O+0T*0- �+�94*,*Q,- )*Q-,; ,+0>�- 0+�-3,-4 6 :�95X
I-. )O+0T*0-. �+�94*,*8 /+ 2�63S 3S0+,� �=0;�+,>/I- )*T*0-
�+�94*,*Q,- 4*,Q- 2*:*3*< )* 2�� 
<8T<�$� 6 :�95I-. )*T*0-.
/+23 �+�94*,*Q,- *43;�� ��6�,*23- 2�63*0<I,- 6 /+/-. *43;�+.�
/+,5 /64* 4650S *43;� 3�*O- 2+ 2�6�,*23- 8+�+4� =64*,Q</+ 2+ 3+0P
T923*7984P 6 �93<7[984S 2�6�,*23 �+�94*,*Q,-�

�WT*5 ,;T�+0< /+23 9 2�6�,S �93<7[9236 �T6�T*\+7� /+,5 0-"
N�+3,98+� �+0�+ �+�94*,*8 ,+/2367I- .+=9 4O+2R6,24S.9 2�6�,*23.9�
=64*,Q*�6�P� /64 /95 /+/98T ,;=+� ,6=,6Q</+ �)+,3+4*23+� 2�6�X
,*23 �+�94*,*Q,-� 7+2)� �+�94*,*Q,- 0*:<� 6 * =��;I3,-. *47<T<
2�63*0<I,-. 2+ �U:+8 ,+�>0>�*�$�$�

�-8+ *47<TU 2�6�,*23,-8T �93<7[9+ ,+=,;� 	+:*R 4 )*/.<
*47<T< �+ 2.P2�< �93<7[984W. )63O- 123O+0,- 2�6�,*23� /+/-.5 )O+0X
.>3+. /+23 �S=,6.,; <0;�*23 =+ 59�*36 �;,>� 43+7; *��;0; ,+X
0>�+ )O+08T;=+/-8- 6 ,;2�+0</-8- 6 3* 364� 5+ 0*8T;=- �S76=<
� �93<7[984S8T \*7.<�;O-8T 3>8T3* ,+0>�� 364 629 /64* *��;0;,P
/2*< �93<7[984P �9[9�9+ 6 *43;�P� /+/98T5 �93<7[984W \*7.<�;O+ =O+/.>
4 2�6�,*239 2+ *0,;I+/-� � )7;�> 3<3* *7[6,984*< 2*<�92�*23 2T�+�$
0;�;.+ )*<=+ < 2�;34U �;,*Q,-8T 6 /+/98T )O+0T*0- 6 )*T*0-�
/64*5 9 < �+�94*,*8 6 /+/98T )O+0T*0- 6 )*T*0-�


*:6 )* 2�� 
<8T< 65 4 60�+,3< 6 0*:6 )* 07<TW ,+0>�9
)* #/+�+,- �;,> 65 4,+0>�9 0+�-3,-4 ,+3�*O- �93<7[984WT* *47<T<G
,+0>�+ 3P ,+/2*< 5;0,*< 123O+0,- 2�6�,*23- *��;0;,P� ,+3�*O-
.+=9 2+:*< *7[6,984WT* 8+�4<� /+/98T �93<7[984W \*7.<�;O+ ,+�PX
/60O</- /+0,*3,W .PI�+,4P� ,S:75 )�P,*<� /64 )76�- 7<:794P" )+7
6,,<.� #+ 36/+.23�- 2�6�,*239 2�63*0<I,- ,+.; ��9�< ,6 ,+0>�+
)* 2�� 
<8T<� 6 2�6�,*23 #/+�+,- �;,> 5+ ,+.; ��9�< ,6 ,+0>�+
)* 07<TW ,+0>�9 )* #/+�+,- �;,>� 0*2�>0Q</- /+/98T .+I,- \*7X
.<�;O+� � 26476.+,3;O9 �+�629*�> .>�P ��623,- \*7.<�;O+ )*<=+
,+0>�+ )*23,- 6 ,+0>�+ .+=9 �+�94*,*8+.9 6 �+3,98+.9� �7* �I+8T,P
*2363,- ,+0>�+ :P�* 8+�4+. %Z \*7.<�;OU .+I,-8T� /98T5 :P�* �=+
�9:*�*�,> <5-�639 6 43+7W 6,9 ,+:P�P *:265+,P � )7�,- 4,9=+ ,60+X

f� �<:7946 O-.24WT* .922;�< 0-" �*23 .9226. �26::� )*23 �+,,� +K2)9763
3+.)<2 )628T6�+G `7<:7946 :7+�9;O8 3WT*5 0,+ 0-" )+23 	*,6. 8+�+:7636 .9226
3+7.9,63<7 3+.)<2 )628T6�+� H E� �T6�T*\+7� �93<7[94 ��� E� V� �:3T� DF� F� 	6
)*/.+,*�;,- ,+0>�" �7�,-� 07<T; 630� )* 2�� 
<8T< 2+ =0+ *0�*�;�639 ,+�=+�
	+:*R ,+0>�+ 3P3* 2+ �50P 364 ,+Q-3;�6�P� � T*.9�9679< �67�6 �+�� Q-36/- 2+ ,+X
0>�+ )* 2�� 
<8T< 3643*" 3O9 )* 2�� 
<8T<� 2+0. )* 2�� �+37< 6 �6��< �)*23
,636�+ 6)*23*�*7<.�� )>3 )* 2�� �6�O9,89� I+23 )* 2�� 
98T6�< �)*23 2� 6,[+�9�� �*X
0*:,> 2 ,>43+7S.9 *08TP�46.9 )*Q-36�6 9 �+839*,6796 = 3>8T3* 0*:� H �+23 3+0P
,P,>/I- =)U2*: )*Q-3;,- ,+0>� )* 2�� 
<8T< =8+�6 ,6T*09�S� )*<=+ =+�,>/I-�



�*=0>�+,- 8-74+�,-T* 7*4<� E%

)26,W 6,,=$ 8978<�<2� ,S:75 3+)7� ,6 )*Q;34< 3O+3- 4,9TP� �P3*
\*7.<�;O+ 3*395 3�*O9�P 2 \*7.<�;O9 )7* �I+0,- 0,P 6 )7* =��;I3,-
,>43+7W <0;�*239 4,9T< 3O+3-� 	;)60,* /+23� 5+ )>3 \*7.<�;OU )7*
60�+,3,- 0*:< /+23 7*�,>5 .9.* 8-74+�,- 7*4� 3*395 � 4,9=+
07<TW� H � 26476.+,3;O9 M+T*O*�> �= 4*,8+ 23*�+3- ������ /+23
)*O;0+4 � .922;�< 3S5� /64* )*2<0� 2 3-. 3*�94* 7*=0-�+.� 5+ ,+X
0>�+ 60�+,3,- /2*< 3+)7� 4< 4*,89 .922;�< <.-23>,P� 8*5 2+ �PX
2�>3�</+ 3-.� 5+ *:PQ+/,> )*Q-,6� ]8-74+�,- 7*4 �;,*8+.9 6 4*,Q9�
3+0P 60�+,3+.� �*,>�605 ,+0>� 60�+,3,-8T :P�* )>3� =.+,I9� 2+
)*Q+3 ,+0>� )* 2�� 
<8T< * /+0,<� $�

�<4*)92 \<�024S *:26T</+ )* 2�6�,*239 #/+�+,- �;,> %' .+IH
,-8T \*7.<�;OU� /98T5 2+ 4650*< ,+0>�9 <5-�639 .*T�*G %Z 364*X
�S8T \*7.<�;OU *:26T*�6�6 3O+3- 4,9T6 �+�6296,6� � I+23W. 23*X
�+3- )*Q6�* 2+ /98T <5-�639 ,6 ,+0>�+ )* 2�� 
<8T<� 364 5+ 2+
= ,98T 0*)�b*�6� )*Q+3 EV� E� # 3*T* �P2�-3;� 5+ =6/923W )O9 2+H
236�*�;,- 3>8T3* \*7.<�;OU 24�6063+�9 ,6 .P2�9 ,+36,<� *T�+0
,6 90+< �+3,98�� �7*3* )7;�+. 0- �T6�T*\+7" A��623,- \*7.<�;O+
.+I,- )7* ,+0>�+ )* 2�� 
<8T< 65 0* 60�+,3< )*�236�P 3+)7�+
�+ 23O+0*�>4<G 364W 2+ 65 )* 0*:< .922;�< �96 � )*0�+ 09*+X
8+2- 7U=,9�P� ` ,+0; 2+ ,943+764 0*4;=639� 5+ :P 3�*O9�P *7[6X
,984S 8+�+4 2,60 *��;06,S 90+*< 2�6�,*239 2�63*0<I,-�" F�

��WT*5 ,;T�+0< /+23 9 �8T7*0� /+,5 )-I+" N� �93<7[984S8T
4,9T;8T� :7+�9;O9 6 .922;�< ,+)*=*7*�639� 5+ :P ,+0>�+ )* 2��

<8T<� /64*5 9 ,+0>�+ .+=9 *43;�+. #/+�+,- �;,> V� 6 ,+0>�9
0+�-3,94� .>�P ,6 2*:> 7;= ,>/64W 2�6�,*239� 	+0>�+ 6 3S0,P
3>8T3* 0�*< )+79*0� /98T5 1T7,,S )*Q+3 /+23 F'� ,+,;�+5+/-
4 N0*:>CC�3+.)<2� �+ 2.P2�< �93<7[984W.� ,S:75 )�P,*<� /64
7<:794P 0-� )+7 6,,<.� �,�9363*79<.� TP.,P� .+,I- Q3+,- T*7�
/2*< )7* *:> )+79*0P 3P3W5� �:> )+79*0P 3�*O- /+, )*3<0 8+�+4�
)*4<0 2+ ,+2�6�- )* #/+�+,- �;,>� ,S:75 )O+0 60�+,3+.� 40P5
3*395 =6Q-,6/- 2+ ,>40P 2�6�939 2)-I+ �+�94*,*8+ 6 3-. 9 /+/98T
)O+0T*0-� �2*< 3* 364 =�� 
*.9,986+ �6[6+� 3*395 *0 F� 65 0*
Z� ,+0>�+ )* #/+�+,- �;,>� 6 EF ,+0>�+ )* 2�� 
<8T<� n�

# 3*T* 3+0P� 8* )*2<0 :P�* O+Q+,*� �=+ 8+�4*�S 12<0+4
* 7*=0>�+,- 8-74+�,-T* 7*4< �P/;0O939 � 3*.3* 2.P2�<" �-74+�,-
7*4 *:26T</+ 0�6 2�6�,*23,- *47<TP� �;,*8+] 6 �+�94*,*8+ D )O9X
2�<I,S. )O+0T*0-. 6 )*T*0-. 6 )64 0�> �*�,W )+79*0P .+=9
*:>.6 2�6�,*23,-.- *47<TP� /+5 Q-36/- 0*T7*.60P E^ 65 F' ,+X
0>�� ��6�,*23,- *47<TP )O9)*.-,6/-� =*:76=</- 6 =)O-3*.b</- ,;.
� 8T7*,*�*[984W. )*23<)< �+I4+7W 0-�* �P4<)93+�24W� /+T*5 23O+X
09I3>. /+23 2.73 6 =.73�S8T�23;,- �;,> ��+�94*,*8+�� /+T*5 *�*X
8+. /+23 �P�93- 
<8T6 2�� ��+3,98+�� /+T*5 4*O+,P /2*< �3>�+,-

$� �+�,+7� %� 8� �[� �7*:23� %� 8 h D�  7+�9;O .*=676:24S .; )*2<0 )>3
,+0>� 60�+,3,-8T� 43+7W �I64 /2*< T,+0 ,6 )*Q;34<� H $��� 8� 237� FD� H ��T6 6�T�
�93<7[94� ��� E� DDE� H $� ��623,> .; :S39 O+Q+,* .+=9 E� ,+0>�9 )* #/+�+,- �;,>
6 ,+0>�- 0+�-3,-4� )*,>�605 "� ,+0>�+� /64 ,P,- 0*4;5+.+� )63O- 4 )*T*0- �;X
,*Q,-.<� H D� e+3=+7 <,0 _�+�3+2 �978T+,�+K94*, ��f� D&V



EE � 4O+2R6,24W. 3W.0,9�

�P,6  *5-T* /95 �+ �3� #;4*,> )O+0)*�>0>,W �60�+,3� 6 )64
�+T* ,67*=+,- ��;,*8+�� %�

� 07<TW Q;239 8-74+�,-T* 7*4<� � *,>8T 0�*< �*�,S8T )+79*X
0;8T ,+2T�+0;�;.+ �U0Q- 2)*/*�68- =;4�60,- .PI�+,4P� ��;34P
,6 3<3* 0*:< )O9)606/-8-� ,+/2�� �7*/98+�  *5-T* �>�6� ,+/2�� 2708+
�+5-I*�6� 076T*8+,,W 47�+� )7*.>,>,- �7923*�6� ,+3�*O- .+=9
2+:*< 6,9 T923*7984P 6,9 �53<7[984P �7[6,984WT* 8+�4<� ,+Q9,-
*47<T< 2�6�,��3,-T*6 ,+.6/- ,6 2*:> /+0,*3,WT* �93<7[984WT* 7;=<�

�*=0>�+,- 8-74+�,-T* 7*4< ,6 3O9 *47<TP" �;,*Q,-� �+�94*X
,*Q,- 6 2�63*0<I,- ,+,- �93<7[984W� 6�+ /+23 �+�.9 7*=I-O+,W &� 6 �=+
T* <5-39 4 7U=,S. <593+Q,S. �S4�60U.� �64 ,6 )O� ,+43+O- 2)92*X
�63+�W )76�-� 5+ 0*:6 �;,*Q,- )O+0236�<�+ 1O60 <Q93+�24S �79236
�;,6� 0*:6 �+�94*,*Q,- �+T* ]1O604,>524S 6 0*:6 2�63*0<I,-
�)6293+�U� 1O60 47;�*�24SG /9,- )64 )76�-� 5+ �;,*8+ )O9)*.-,6/-
,;. �;24<  *T6 �38+� /+,5 �P,6 2�WT* =6 ,;2 �P06�� �+�94*,*8+
�;24< �P,6  *5-T*� /+,5 2+ =6 ,;2 *:>3*�6�� 6 �+3,98+ �;24<

<8T6 2��� /+,5 .+=9 ,;2 2+23*<)9� ` )� H �=+ )64 * 3>8T3*
�S4�60+8T O-89 3*3W5 8* * .P23984S8T �S4�60+8T 23O+0*�>4S8T
�P4�6063+�U .I+ 2� F�

$ �O+0+�I-. 3O+:6 �I-.639 29 �S4�60< [76.63984*�T923*7984WT*�
6 3+)7� ,6 3*.3* =;4�60> �=+ 2 12)>8T+. :<0*�639 �S4�60P .PX
23984W� /+5 �+�.9 2�*<5- 4 7*=,-8+,- )*:*5,*239 4,>=+ 9 �90<� ��+
/64* ,+)*7*=<.- .I9 2��� 40* =6,+0:;�; �S4�60< 2�*�,WT* 6 T9X
23*7984WT*� 43+7S ,;2 )*<Q</+ * 0*:>� 40P� 6 * )O-Q9,>� )7*Q
*:O60P 0* �93<7[9+ .+I,- :P�P =6�+0+,P� /64S :P� /+/98T )U�*0,-
�S=,6.� /64S. =.>,;. :P�P )*07*:+,P� 364 364W ,+)*7*=<.-
)*02363> 8-74+�,-T* 7*4<� 40* =6,+0:;�; 0>/9, 8-74+�,-T* 7*4<
6 2�*�,WT* =,>,- \*7.<�;OU� ,S:75 /923W 90++ .6/+ ,6 .P2�9
6 )79*79� 8T8+ /+ 3W5 2)63O939 =*:76=+,P � 8-74+�,-. 7*4<� 	+X
2.-.+ 3+0P ,940P =6)*.+,*<3-� 5+ �S4�60 [76.63984* T923*7984S
/+23 4�-Q+. 4 �S4�60< .P23984W.<�

` Z� � 4O+2R6,24W. 3W.0,9�

#;4�60+. 8-74+�,-T* 7*4< /+23 4O+2R6,24S 3S0+,� 3� /� ,+X
0>�+ 2+ I+239 �I+0,-.9 0,P� �U�*0+. /+23 3S0+, �T+:0*.62�
T+:0*.606� V� O-0Q+/9 2+)39.6,6� 364 2367S /64* )*4*�+,- �9024W
6 2)*Q-�; ,6 )*2939�,-. )O-46=< :*524W. ��� 
*/5� E�  ���D� �0
a90U 0*236�* 2+ <5-�;,- 3WT*0,+ 9 4 /9,S. ,;7*0U.� T�6�,>
�22PO6,U.� 43+O- 0�+ =)9;� 4�-,*�WT* )-2.6 ]� <5-�6�9 � 46�+,X

$� �T6�T*\+7� �� 8� ��� V �:3T� s %� E� H c� �7*�,�" �4*Q0*)*�8� :*T*2��
)623SO24W��� 237� E(VG �<+76,[W7� 062 �978T+,/6T7G �.:+7[+7� �623*76�3T� ��� �����

7 
9))+�� 062 463T� �978T+,/6T7��G e9�.+72� �+T7:<8T 0+7 �+�9[9*, L%�D DD� :�G
�+339,[+7�� �)*�*[9+ 0+2 �T7923+,3<.2 ��� E� kV�G ��TU�T� �623*76�3T� D(V� HH
6� 
7 �<)46� � .I9 2�� hVZ H $� �:*/- \*7.P <5-�6�* 2+ /95 < )O+04O+2R6,X
24S8T ,;7*0U� �76<2� ��� &^&� H D� �0+�+7� �T7*,*�� �� V^'� H Z� 0+ e933+� �6=�
678TW*�� %^((� )� D%�


